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Directions: Choose the best choice (a, b, c, or d) and mark it on your answer sheet.

1. The purpose of organizational modifications is to increase organizational effectiveness. "Purpose”

should mean ............... .

a. factor b. aim

c. skill d. task

2. A person who acts as specialist in changing some aspects of an organization is called change ........... .

a. policy b. attitude

3. The government made a ........

a. reductive b. reduce

c. beneficial d. agent

....... on tax payment.

c. reduction d. reductively

4. The company needs a new structure to facilitate efficient work flow. "Facilitate" should mean ............... .

a. to give information

c. to give advice

b. to make impossible

d. to make easier

5. Organizational activities centering around three classes of factors:

(1) people (2) technology and (3)

a. structure b. attitude

c. leadership d. control

6. Managers should attempt to make people change when it is the main cause of organizational

ineffectiveness.
a. attend b. invite c. try d. start
7. Nowadays we are living in an era of rapid ............... change.
a. technology b. technological c. technologist d. technologically

8. Managers hope for a(n) .......

........ in the search for improvement the employees' payments.

a. breakthrough b. expertise c. consultant d. characteristic
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9. Iranian industries are able to ............... car parts.

a. coordinate b. withstand c. decentralize d. manufacture

10.

11

12.

13.

14.

15.

16.

17

18.

The government should generate many new jobs for young people. "Generate" should mean .............. .

a. produce b. support c. close d. improve

. It will be necessary to reduce staffing levels in order to make the company ............... .

a. rational b. periodic c. viable d. sequential

Because of the new economic situation all the companies need to ............... their structure.

a. intrigue b. refine c. distribute d. communicate

Economic historian, Joseph Schumpeter, viewed ............... as the source of success in the market
economy.

a. innovation b. translation c. imagination d. creation

Individuals differ in their ability to be creative. "Individuals" should mean ............... .

a. problems b. researches c. results d. persons

Creative people tend to be more ............... .

a. unmotivated b. original c. dependable d. non- flexible

The firm manufactures home electrical devices. "Devices" should mean ............... .

a. policies b. effects c. goods d. rates
. My friend is a member of the ............... of a new computer company.
a. labor b. chairman c. payroll d. board

It will not be possible to repair the university building without considerable ............... .

a. expenditure b. conglomerate c. recruitment d. performance
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19. A fixed amount of money agreed every month as pay for an employee is called ............... .

a. salary b. price c. pension d. severance

20. She is a new breed of manager whose performance seems necessary. "Breed" should mean

a. serious b. careless c. type d. lazy
21. In order to prevent public shock prices should remain ............... for a longtime.
a. stabilize b. stable c. stably d. stability
22. Some experts think that government ............... is useful to reduce the prices.
a. merger b. exploitation C. janitor d. intervention
23. If you do your duty properly, what kinds of ............... do you get?
a. benefit b. payroll c. risk d. labor
24. An Iranian company ............... with a German firm to develop product last year.
a. collaborate b. collaboration c. collaborated d. collaborative

25. In poor countries children exploited in factories as labors. "Exploited" should mean ............... .

a. include b. use c. face d. study

.Aﬁ&ﬂdﬁl;d‘}aﬁﬁﬂyyo\.dfu..u\édew:p;ui"q

26. The human resource function plays a vital role in any organization's ability.

a. 5T b uﬁ\.o- C. VSL d greie

27. One of the most important human resource tasks is setting levels of compensation.

A, )15 o ,e ol b. )y C. |l d. Uise 5 5ea
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28. Organizational development (OD) has a special emphasis on formal work team and temporary team.

a. w8 b. w1,56 C. By d. b

29. Collaborative management means that managers put aside the hierarchical authority structure.

a. O,.A\J.AM b. V;‘bji':cx.i C.J&&)\g;;g\ d. SR g

30. The consultant helps the group members to develop the diagnostic and problem solving skills.

a. colas b. s c
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